Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

Time: 3 hrs.

1 a.
b.
(o

2 a.
b.

3 a
b.

4 a.
b.
G.

5 a
b.
C.

Explain the archltecture of SIC program. (08 Marks)
Write any five addressmg/modes of SIC/XE with their fla ! (05 Marks)
Write an assembly prograrﬁ ih SIC/XE to perform ‘ALPHA =9 — ALPHA * 10’ using only
register addressing mstruetton; con51der1ng the prloru of operators. (03 Marks)

Write the algorlthm of pass-1 of tW‘Q pa,us assembler (08 Marks)

(08 Marks)

(08 Marks)
Why extended, ressing is not reloadable? Explain how to resolve the relocation problem
of extended T“)rmat with an example and block diagram.

OR .
Explam the working of load-and-go assembler with proper example. ((68 Marks)

E‘;plam how the program with program blocks gets loaded into memory with blo»k diagram.
(04 Marks)

f"What do you mean by delayed branches in SPARC assembler? Explain with example,(©
= (04 Marks)

Module-3
Write the algorithm of absolute loader. (04 Marks)
Give the format of relocation bit for program relocation with relevant example. (04 Marks)
Explain how the program linking is performed by the loader with a block diagram. (08 Marks)
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A OR / -
Exp]am lmkmg loader and linkage editor. Compare linking loader with lmage editor.
A . § (08 Marks)
(08 Marks)
Module-4

‘block diagram. (08 Marks)

Qata structures used by macro processor wi
i ’ (08 Marks)

(08 Marks)

(08 Marks)
‘Vlodule«i,f“
Explain recursive descent parsing. Wr;te rerm‘ilve descent parse for READ statement.
(08 Marks)
Briefly discuss different machine depq‘nden‘,{ code optimization techniques. (08 Marks)

Using the given finite automation, ck
i) abca ii) abccccabe 111) abaab Iv) ababcab V) abababab vi) abcbe vii) abcabe viii) abba.

(08 Marks)
Write note on :
i) p-code cor pher S
ii) YACC‘co}ﬁpller 7 S5 (08 Marks)
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